
Figure S1

Table S1

Tree 1 CP nsplit rel error xerror xstd
1 0.21875 0 1.00000 1.18750 0.059449
2 0.18750 1 0.78125 0.84375 0.097040
3 0.01000 2 0.59375 0.96875 0.089044
Tree 2 CP nsplit rel error xerror xstd
1 0.31250 0 1.00000 1.18750 0.059449
2 0.18750 1 0.68750 0.84375 0.097040
3 0.09375 2 0.50000 0.75000 0.100223
4 0.01000 3 0.40625 0.75000 0.100223
Tree 3 CP nsplit rel error xerror xstd
1 0.3125 0 1.0000 1.21875 0.052158
2 0.1875 1 0.6875 0.96875 0.089044
3 0.1250 2 0.5000 0.87500 0.095470
4 0.0100 3 0.3750 0.87500 0.095470
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